
 

jkpo;ehL muR 

Ntiytha;g;G kw;Wk; gapw;rpj;Jiw 

 

gphpT :   TNPSC Group II Njh;T 

ghlk; :   Ntjpapay; 

gFjp    :   Mf;]p[Ndw;wk; kw;Wk; xLf;fk; 

 

 

fhg;Ghpik 

jkpo;ehL muRg; gzpahsh; Njh;thizak; F&g; - 2 Kjy;epiy kw;Wk; Kjd;ik 

Njh;TfSf;fhd fhnzhyp fhl;rp gjpTfs;> xypg;gjpT ghlf;Fwpg;Gfs;> khjphp Njh;T 

tpdhj;jhs;fs; kw;Wk; nkd;ghlf;Fwpg;Gfs; Mfpait Nghl;bj; Njh;tpw;F jahuhFk; 

khzt> khztpfSf;F cjtpLk; tifapy; Ntiytha;g;G kw;Wk; gapw;rpj; Jiwahy; 

nkd;nghUs; tbtpy; jahhpf;fg;gl;Ls;sJ. ,k;nkd;ghlf; Fwpg;GfSf;fhd fhg;Ghpik 

Ntiytha;g;G kw;Wk; gapw;rpj; Jiwiar; rhh;e;jJ vd njhptpf;fg;gLfpwJ. 

ve;j xU jdpegNuh my;yJ jdpahh; Nghl;bj; Njh;T gapw;rp ikaNkh 

,k;nkd;ghlf; Fwpg;Gfis ve;j tifapYk; kWgpujp vLf;fNth> kW Mf;fk; nra;jplNth> 

tpw;gid nra;Ak; Kaw;rpapNyh <LgLjy; $lhJ. kPwpdhy; ,e;jpa fhg;Ghpik rl;lj;jpd; 

fPo; jz;bf;fg;gl VJthFk; vd njhptpf;fg;gLfpwJ. ,J Kw;wpYk; Nghl;bj; 

Njh;TfSf;F jahh; nra;Ak; khzth;fSf;F toq;fg;gLk; fl;lzkpy;yh NritahFk;. 

  

             Mizah;> 

                   Ntiytha;g;G kw;Wk; gapw;rpj; Jiw      
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 ehk; caph;thoj; Njitahd kpf Kf;fpakhd jdpkk; Mf;]p[d; MFk;.  

 ek; md;whl tho;tpy;  Jzpfspd; epwk; kq;Fjy;> rikay; vhpthA> tpwF kw;Wk; 

epyf;fhp vhpjy;> ,Uk;G nghUl;fs; JUg;gpbj;jy; Nghd;w epfo;Tfspy; 

Mf;]p[Ndw;wk; kw;Wk; xLf;fk; Mfpa Ntjp tpidfshNyNa epfo;fpwJ.  

 

Mf;]p[Ndw;wk;  

 xU Ntjptpidapy; Mf;]p[d; Nrh;f;fg;gLjhNyh i`l;u[d; my;yJ vyf;l;uhd; 

ePf;fg;gLjNyh epfo;e;jhy; me;j tpid Mf;]p[Ndw;wk; vdg;gLk;. 

v.fh : 

 2Cu + O2      2Cuo (Mf;]p[d; Nrh;f;fg;gLfpwJ) 

 Na   Na+ + e-  (vyf;l;uhd; ePf;fg;gLfpwJ) 

 H2S + Br2      2HBr + S (i`l;u[d; ePf;fg;gLfpwJ) 

 

xLf;fk; 

 xU Ntjptpidapy; i`l;u[d; Nrh;f;fg;gLjhNyh> Mf;]p[d; ePf;fg;gLjNyh 

my;yJ vyf;l;uhd; Vw;fg;gLjNyh epfOk; NghJ me;j tpid xLf;fk; vdg;gLk;. 

v.fh  

 Fe3+ + e-      Fe2+
  (vyf;l;uhd; Nrh;f;fg;gLfpwJ) 

 2Na  + H2     2NaH (i`l;u[d; Nrh;f;fg;gLfpwJ) 

 CuO +H2      Cu  + H2O  (Mf;]p[d; ePf;fg;gLfpwJ) 

 

Mf;]p[Ndw;w - xLf;f tpidfs; 

 Mf;]p[Ndw;wKk;> xLf;fKk; xNu rkaj;jpy; epfof; $ba tpidfs; MFk;. 

 Zn +CuSO4      Cu  + ZnSO4  
 

ntg;g ckpo; tpidfs; 

 ntg;g Mw;wy; ntspNaWjYld; epfOk; tpidfis ntg;g ckpo; tpidfs; 

vd;fpNwhk;. nghJthf ntg;g ckpo;tpidfs; gpd;tUkhW Fwpf;fg;gLfpwJ. 

 A + B      C + D + q   

q ntspaplg;gLk; Mw;wy; ,J [Py; my;yJ fpNyh [Py; vd;w myfhy; 

Fwpf;fg;gLfpwJ.  

(v.fh): Rthrpj;jy;> mkpy fhu eLepiyahf;fy; ngl;Nuhy; vhpjy;. 
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ntg;gf; nfhs; tpidfs; 

 ntg;g Mw;wiy cl;nfhz;L epfOk; Ntjp tpidfs; ntg;g Vw;G tpidfs; 

vdg;gLk;. 

 A + B + q     C+D    

               my;yJ 

 A + B           C + D - q  

q  vd;gJ cl;nfhs;sg;gLk; ntg;gk; 

(v.fh): iel;u[d; Nkhdhf;irL cUthFk; tpid 

 N2 +O2      
 
   2NO 

 

Ntjptpidapd; Ntfk; 

 xU tpdhb fhy mstpy;  tpidgL nghUspd; nrwptpNyh my;yJ 

tpisnghUspd; nrwptpNyh Vw;gLk; khw;wkhFk;.  

 

Neh;f;FwpaPL 

 tpid tpis nghUspd; nrwpT khw;wj;jpd; NghJ tpidNtfk; Neh;f;FwpaPL 

 

vjph;f;FwpaPL 

 tpidgL nghUspd; nrwpT khw;wj;jpd; NghJ tpidNtfk; vjph;f;FwpaPL 

 

nghJthf vy;yh tpidfSf;Fk;. 

 

 

 

 

(v.fh):  

N2 +CO          CO2 + NO 

 

Ntjp tpidapd; Ntfk; : 

-  
   

  
   = -   

  

  
  =   

   

  
  =   
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Ntjp tpidfspd;  Ntfj;ijg; ghjpf;Fk; fhuzpfs; 

1. tpidnghUs;fspd; ,ay;G 

2. tpidgL nghUs;fspd; nrwpT 

3. tpidgLnghUs;fspd; Nkw;gug;G 

4. ntg;gepiy 

5. tpida+f;fp 

 

,iz jpwd; 

 xU mZ kw;nwhU mZ my;yJ mZf;fSld; $Lk; nghOJ me;j 

mZtpypUe;J ,lk; ngaUk; my;yJ gq;fplg;gLk; vyf;l;uhd;fspd; 

vz;zpf;ifNa mjd; $Lk; jpwd;  my;yJ ,izjpwd; vdg;gLfpwJ. 

 

,izjpwd; - 1 

Neh;kpd; Rik ngw;w madp vjph;kpd; Rik ngw;w madp 

H+ 
i`l;u[d; madp Cl- FNshiuL madp 

Na+ 
Nrhbak; madp Br- 

GNuhikL madp 

K+ 
nghl;lhrpak; madp l- mNahilL madp 

Cu+ 
fhg;gh; madp OH- 

i`l;uhf;i]L madp 

Ag+ 
rpy;th; madp NO3

- 
iel;Nul; madp 

NH4
+ 
mk;Nkhdpak; madp HCO3

- 
ig fhh;gNdl; madp 

 CN- 
raidL madp 

NO3
- 
iel;Nul;  madp 

NO2
- 
iel;iul; madp 

MnO4
- 
ngh;khq;fNdl; madp 

HSO4
- 
igry;Ngl; madp 

HSO3
- 
igry;igL madp 

ClO3
- 
FNshNul; madp 

ClO2
- 
FNshiul; madp 

 

,izjpwd; -2 

Neh;kpd; Rik ngw;w madp vjph;kpd;Rik ngw;w madp 

Mg2+ 
nkf;dPrpak; O2-

Mf;i]L madp 

Ca2+ 
fhy;rpak; madp S2-

igy;igL madp 

Ba2+ 
Nghpak; madp SO3

2- 
ry;igL madp 

Zn2+
 [pq;f; madp SO4

2- 
ry;Ngl; madp 

 CO3
2- 

fhh;gNdl; madp 

Cr2O7
2- 

ilFNuhNkl; madp 

MnO4
2- 

khq;fNdl; madp 

S2O3
2- 

jNahry;Ngl; madp 
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,izjpwd; -3 

Neh;kpd; Rik ngw;w madp vjph;kpd;Rik ngw;w madp 

Al3+ 
mYkpdpak; madp PO4

3-
gh];Ngl; madp 

 BO3
3- 

NghNul; madp 

 

ntt;NtW ,izjpwd; nfhz;l Neh;kpd; madpfs; 

madp ngah; madp ngah; 

Au+ 
Nfhy;L (1) (m) Mu]; madp Au3+ 

Nfhy;L (III)  (m) Mhpf; 

Ce3+ 
rPhpak; (III) my;yJ rPu]; Ce4+  

rPhpak; (IV)  my;yJ rPhpf; 

Co2+ 
Nfhghy;l; (II) (m) Nfhghy;l]; Co3+ 

Nfhghy;l;  (III)  (m) Nfhghy;bf; 

Cr2+ 
FNuhkpak; (II) (m) FNuhk]; Cr3+ 

FNuhkpak; (III)   (m) FNuhkpf; 

Cu+ 
fhg;gh; (I) (m) Fg;u]; Cu2+ 

fhg;gh; (II)  (m) Fg;hpf; 

Fe2+ 
,Uk;G (II) (m) ngu]; Fe3+ 

,Uk;G  (III)  (m) nghpf; 

Mn2+ 
khq;fdPR (II) (m) khq;fd]; Mn3+ 

khq;fdPr (III)  (m) khq;fdpf; 

Pb2+ 
nyl; (II)  (m) gpsk;g]; Pb4+ 

nyl; (IV)  (m) gpsk;gpf; 

Sn2+ 
bd;  (II) (m) ];Nld]; Sn4+ 

bd;  (IV)  (m) ];Nldpf; 

 

(fhu cNyhfq;fspd; Mf;]p[Ndw;w vz; +1 fhu kz; cNyhfq;fspd; Mf;]pNdw;w 

vz; +2) 

 

Mf;]p[Ndw;w  vz; fz;lwpjy; 

 

1. KMnO4 Mn d; Mf;]p[Ndw;w vz;? 

K d; ,izjpwd; 1. Mf;]p[d;  ,izjpwd; 2 ,jpy; ehd;F Mf;]p[d; 

cs;sJ. vdNt 4 x 2 = 8 MFk;.  

 1 + x - 2 x  4  = 0 

        1 + x – 8 = 0 

   x – 7 = 0 

           x = 7 

 

Mn d; Mf;]p[Ndw;wk; + 7 MFk; 

 

 

 

 

 

1945 Mk; Mz;L [g;ghd; ehl;L `pNuh\pkh vd;w efuj;jpd; kPJ tPrpa 

mZFz;by; gad;gLj;jpa INrhNlhg; - U235 
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2. HClO3 y; FNshhpd; Mf;]p[Ndw;w vz;? 

H = 10  madp  = – 2 MFk;. [2 x 3 = 6] 

        1 + x – 6 = 0 

    x – 5 = 0 

           x = + 5  

 

FNshhpd; Mf;]p[Ndw;wk; +5 MFk; 

 

 

3. HClO3 y; FNshhpd; Mf;]p[Ndw;w vz;? 

       1 + x – 4  = 0 

  x – 3  = 0 

       x  = + 3  

 

iel;;u[dpd; Mf;]p[Ndw;w vz;  +3 MFk; 

 

 

4. MnO4
2-

 y; Mn dpd; Mf;]p[Ndw;w vz;? 

  x - 4   = – 2 

        x   = 8 – 2 

        x  = + 6 

Mn Mf;]p[Ndw;w vz;  +6 MFk; 

 

5. K3[Fe(Cn)6] y; Fe Mf;]p[Ndw;w vz;? 

K = +1  CN = –1  

3 x 1  + x – 1 x 6 = 0 

  3 + x – 6  = 0 

         x – 3  = 0 

     x = 3  

Fe  Mf;]p[Ndw;w vz;  +3 MFk; 

 
 

6. K2Cr2O7 y; Cr Mf;]p[Ndw;w vz;? 

 2 + 2x – 14  = 0     

         2x – 12  = 0 

       2x = 12 

          x = 6  

Cr  Mf;]p[Ndw;w vz;  +6 MFk; 

 

 

 

,aw;if fjphpaf;fj;ij fz;lwpe;J 1903 Mk; Mz;L mjw;F Nehgy; 

ghpR ngw;wth; - n`d;wp ngf;Nfhuy; 
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7. UO2
2+

  y; U j;jpd;  Mf;]p[Ndw;w vz;? 

     U - 2 x 2  = 2     

  U- 4   = 2 

       U  = 2 + 4  

       U = 6  

 

U  Mf;]p[Ndw;w vz;  +6 MFk;. 

 

 

8. Mn2O3 y; Mn  Mf;]p[Ndw;w vz;? 

 2x – 2x x 3  = 0     

          2x – 6 = 0 

                 2x = 6 

         x = 3 

 

Mn  dpd; Mf;]p[Ndw;w vz;  +3 MFk; 

 

 

9. MnO2 y; mn  Mf;]p[Ndw;w vz;? 

  x – 4 = 0     

         x = 4 
 

Mn  dpd; Mf;]p[Ndw;w vz;  +4 MFk; 

 

 

10. Fe2 (SO4)3 y; Fe Mf;]p[Ndw;w vz;? 

        Fe = x  

      So4 = –2      

            2x – 6 = 0 

        2x = 6 

          x = 3 
 

Fe  dpd; Mf;]p[Ndw;w vz;  +3 MFk; 

 

11. AlCl3 y; Al  Mf;]p[Ndw;w vz;? 

 Cl = – 1   Al = x  

        x – 1 x 3  = 0 

              x – 3 = 0 

           x = 3 

 

Al  dpd; Mf;]p[Ndw;w vz;  +3 MFk; 
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12. Na2SO4 y; S  apd; Mf;]p[Ndw;w vz;? 

 Na =1  O = – 2 

    2 x 1 +x – 4 x 2  = 0 

       2 + x – 8 = 0 

   x – 6 = 0 

          x = 6  

 

S  dpd; Mf;]p[Ndw;w vz;  +6 MFk; 

 

13. SrCO3 y; Sr Mf;]p[Ndw;w vz;? 

 Sr = x     CO3 = – 2 

  x – 2 = 0  

         x = 2 

 

Sr  dpd; Mf;]p[Ndw;w vz;  +2 MFk; 

 


